Name Period
HW 2-4

Secl Graphing_j Linear Inequalities Unit 2
Graph each linear inequality
1. y<3x+1 1
2. y>—=x-4
:_3-5-4-3-2-11 2347 <:x _3_3_4_3_2_1;  ERENR
3. Using the graph from #1, is the 4. Using the graph from #2, is the
point (2, 6) a solution? point (1, 3) a solution?
5. y>-3 6. X=—-3
3:43>1I 6 3343711: XA
7. Using the graph from #5, is the point (-4, -3) a solution?
8. Using the graph from #6, is the point (-5, 2) a solution?
9. 2X+4>y 1
s 10. —=X—-22 Y
: 3 :
6-p-#-B-R 1,; [ :x g
z EEEEED [

11. Using the graph from #9, is the point (-1, 2) a solution?
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11. Using the graph from #9, is the point (-1, 2) a solution?



1 13. Y > 2X
12. 'y < —g X ,
6-p-#-B-R 11 4 6 x 5 5 1::
14. Using the graph from #12, is the point (-2, -5) a solution?
15. Using the graph from #13, is the point (1, 3) a solution?
16. Yy<2 17. X< 2
o V4

Answers: No, No, No, Yes, Yes, Yes, Yes
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